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(1)　¦ABC において，余弦定理により

　　 2AC = 2AB + 2BC -2AB･BCcos4ABC

　　　　= 2
0 1-U3 1 + 2

0 1+U3 1

　　　　　　　　　　　-20U3 1-1 0U3 1+1 cos60,

　　　　=4-2U3 +4+2U3 -03 1-1 =6

　AC>0 であるから　　AC=U ア6

　また，¦ABC の外接円の半径を R とすると，正弦定理により　　
AC

sin4ABC
=2R  

　よって　　R= U6

2sin60,
= U6

U3
=U イ2

　さらに，正弦定理により，
BC

sin4BAC
=2R  であるから

　　　　　　sin4BAC =
+U3 1

2U2
=

+U ウ6 U エ2
オ4

　8 9または 
+U ウ2 U エ6
オ4

(2)　△ABD=
1

2
AB･ADsin4BAC  であるから

　　　　　　AB･AD=
2△ABD

sin4BAC
=

U2

3

+U6 U2

4

=
4

30 1+U3 1

　　　　　　　　　　=
40 1-U3 1

30 1+U3 1 0 1-U3 1
=

-カ2U キ3 ク2
ケ3

　AB=U3 -1 であるから　　AD=
コ2
サ3
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